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Tekst 4 

 
1p 6 Which statement about the book ‘The Rabbit Who Wants to Fall Asleep’ is 

true according to paragraph 1? 
A Children will fall asleep by doing the exercises used in it. 
B Many parents buy it as a present for their children. 
C Reading it to children helps them doze off more quickly. 
D The method described in it has no effect on older children. 
 

2p 7 Geef van elke techniek om een kind in slaap te laten vallen aan of deze 
wel of niet wordt genoemd in alinea 2 en/of 3. 
Omcirkel achter elk nummer ‘wel’ of ‘niet’ in de uitwerkbijlage. 
1 Steeds zachter gaan voorlezen. 
2 Voorlezende ouders doen alsof zij zelf slaperig zijn. 
3 Specifiek taalgebruik en beelden gebruiken. 
4 Het verhaal op een speciale manier voorlezen. 
 
 

Tekst 5 

 
1p 8 How are Google Doodles introduced in paragraph 1? 

A by mentioning some examples 
B by presenting their history 
C by stressing how important they are 
 

1p 9 Which point is made about Ryan Germick in paragraph 2? 
A He developed his computer skills in India. 
B He discovered the potential of online sharing early on. 
C He travelled the world to develop exceptional ideas. 
D He wanted to be a professional photographer. 
 

1p 10 Why did Ryan change his business card according to paragraph 3? 
He didn’t 
A like the job title that Google gave him. 
B think this description would promote his career. 
C want people to think he was bad at his job. 
 

2p 11 Geef bij elke bewering aan of deze wel of niet wordt genoemd in alinea 
4 en/of 5. 
Omcirkel achter elk nummer ‘wel’ of ‘niet’ in de uitwerkbijlage. 
1 De eerste Doodle is door een speciale afdeling gemaakt. 
2 De Doodles worden gemaakt naar aanleiding van actueel nieuws. 
3 De naam van het bedrijf moet in alle plaatjes terugkomen. 
4 Mensen van over de hele wereld leveren een bijdrage. 
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1p 12 Kies bij    12    in alinea 5 het juiste antwoord uit de gegeven 
mogelijkheden. 
A credibility 
B productivity 
C publicity 
D variety 
 
 

Tekst 6 

 
1p 13 What becomes clear from paragraph 1? 

A A parachute would be available to save Felix. 
B Felix’ team was sure nothing could go wrong. 
C Someone would be joining Felix on his jump. 
D What Felix was about to do was very dangerous. 
 

1p 14 Kies bij    14    in alinea 2 het juiste antwoord uit de gegeven 
mogelijkheden. 
A obstacles 
B pressures 
C speeds 
D time zones 
 

2p 15 Geef van elke bewering aan of deze wel of niet wordt genoemd in alinea 
2 en/of 3. 
Omcirkel achter elk nummer ‘wel’ of ‘niet’ in de uitwerkbijlage. 
1 Felix’ moeder was emotioneel na de landing. 
2 Felix wist dat de sprong gezondheidsproblemen zou veroorzaken. 
3 Vlak voor Felix moest springen, durfde hij eigenlijk niet meer. 
4 Het uitzicht van zo’n grote hoogte was heel mooi. 
 

1p 16 Uit welke zin in alinea 4 blijkt dat Felix op grote hoogte stond? 
Citeer (= schrijf over uit de tekst) de eerste twee woorden van de zin 
waaruit dit blijkt. 
 

1p 17 According to paragraph 5, why is Felix Baumgartner’s skydive special, 
besides the record? 
A because it was a positive stunt in space after a previous tragedy 
B because several scientists contributed to this project 
C because the free-fall was broadcast live throughout the world 
D because the techniques can be used for future space travel 
 


